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QUESTION 1

What is a key benefit of using Oracle Cloud Infrastructure\\'s Resource Manager for your Terraform provisioning and
management activities? (Choose the best answer.) 

A. You can use Resource Manager to apply patches to all existing Oracle Linux interfaces in a specified compartment. 

B. Resource Manager has administrative privileges by design. Even if your IAM user does not have access, you can
leverage Resource Manager to provision new resources to any compartment in the Tenancy. 

C. You can use Resource Manager to identify and maintain an inventory of all Compute and Database instances across
your tenancy. 

D. Resource Manager manages to Terraform state file for your infrastructure and locks the file so that only one job at a
time can run on a given stack. 

Correct Answer: D 

Reference: https://docs.oracle.com/en-us/iaas/Content/ResourceManager/Concepts/ samplecomputeinstance.htm 

 

QUESTION 2

You have a Linux compute instance located in a public subnet in a VCN which hosts a web application. The security list
attached to subnet containing the compute instance has the following stateful ingress rule. 

The Route table attached to the Public subnet is shown below. You can establish an SSH connection into the compute
instance from the internet. However, you are not able to connect to the web server using your web browser. 

Which step will resolve the issue? (Choose the best answer.) 

A. In the route table, add a rule for your default traffic to be routed to NAT gateway. 

B. In the security list, add an ingress rule for port 80 (http). 

C. In the security list, remove the ssh rule. 

D. In the route table, add a rule for your default traffic to be routed to service gateway. 

Correct Answer: D 

 

1Z0-1067-21 PDF Dumps | 1Z0-1067-21 Exam Questions | 1Z0-1067-21 Braindumps                                2 / 4

https://www.passapply.com/1z0-1067-21.html
https://www.passapply.com/1z0-1067-21.html
https://www.passapply.com/1z0-1067-21.html


https://www.passapply.com/1z0-1067-21.html
2024 Latest passapply 1Z0-1067-21 PDF and VCE dumps Download

 

QUESTION 3

Your team implemented a SaaS application that requires a whole system deployment for each new customer. The
infrastructure provisioning is already automated via Terraform, and now you have been asked to develop an Ansible
playbook to centralize configuration file management and deployment. 

What is the most effective way to ensure your playbooks are utilizing up-to-date and accurate inventory? (Choose the
best answer.) 

A. Export an inventory list from the Oracle Cloud Infrastructure Web console. 

B. Export an inventory list using Terraform apply command. 

C. Implement a Command Line Interface script to list all the resources and run it within Ansible to generate a dynamic
inventory list. 

D. Download the dynamic inventory script provided by Oracle Cloud Infrastructure and include it in the playbook
invocation command. 

Correct Answer: D 

 

 

QUESTION 4

You have set an alarm to be generated when the CPU usage of a specified instance is greater than 10%. In the alarm
behavior view below you notice that the critical condition happened around 23:30. You were expecting a notification
after 1 minute, however, the alarm firing state did not begin until 23:33. 

What should you change to fix it? (Choose the best answer.) 

A. Change the alarm\\'s metric interval to 1. 

B. Change the alarm condition to be grater than 3%. 

C. Change the notification topic that you previously associated with the alarm. 

D. Change the alarm\\'s trigger delay minutes value to 1. 

Correct Answer: D 

 

1Z0-1067-21 PDF Dumps | 1Z0-1067-21 Exam Questions | 1Z0-1067-21 Braindumps                                3 / 4

https://www.passapply.com/1z0-1067-21.html
https://www.passapply.com/1z0-1067-21.html
https://www.passapply.com/1z0-1067-21.html


https://www.passapply.com/1z0-1067-21.html
2024 Latest passapply 1Z0-1067-21 PDF and VCE dumps Download

 

QUESTION 5

You are asked to implement the disaster recovery (DR) and business continuity requirements for Oracle Cloud
Infrastructure (OCI) Block Volumes. Two OCI regions being used: a primary/source region and a DR/destination region.
The requirements are: 

There should be a copy of data in the destination region to use if a region-wide disaster occurs in the source region
Minimize costs 

Which design will help you meet these requirements? (Choose the best answer.) 

A. Clone block volumes. Use Object Storage lifecycle management to automatically move clone objects to Archive
Storage. Copy Archive Storage buckets from source region to destination at regular intervals. 

B. Clone block volumes. Copy block volume clones from source region to destination region at regular intervals. 

C. Back up block volumes. Copy block volume backups from source region to destination region at regular intervals. 

D. Back up block volumes. Use Object Storage lifecycle management to automatically move backup objects to Archive
Storage. Copy Archive Storage buckets from source region to destination at regular intervals. 

Correct Answer: D 
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